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Al 25,000
01 A& HI 124,500 145,000 A 20,500
ST XLSSAIY 124,500, 000% 14 124,500
< 99,600
Al 24,900
03 Al 2 THHI 500 1,000 A 500
OAIZ S THHI 500,000% 14! 500
< 400
Al 100
JlHs A& S IA(MEAIY) 1,975,000 2,400,000 A 425,000
401 A& HI L RO 1,975,000 2,400,000 A 425,000
01 Al&HI 1,970,000 2,395,000 425,000
OFLXN T JIAH}IHZ SHZHAY
1,970,000, 00014 1,970,000
03 Al 2 THHI 5,000 5,000 0
OAE =t 5,000,000 14! 5,000
A2 SYIIEHAIE FHIALY 1,639,500 156,116 1,483,384
401 AIEHI L 2 CHYI 1,639,500 156,116 1,483,384
01 A& HI 1,636,000 155,000 1,481,000
OZY=S OtatotE =2 HE S A 100,000,000 100,000
OHels S&0t2 =2 WA 3 AE 100,000,000 100,000
OZ2dEs YOS Et=2 | ZA
30,000, 000 30,000
OZYES LENS 842 JHl ZA
10,000, 000 10,000
O&LdE MF0E2 s2 & S AL 30,000,000 30,000
OZ2Y:s sd30t2 =2 £& 2 A 10,000,000 10,000
OZYs 830t s Z& S AL 15,000,000 15,000
OZYS =EOt2 =2 & 2 A 20,000,000 20,000
OZYs 2Z0S s MEE SA
30,000, 000 30,000
OZdE MEDS =2 =2 EHISA
25,000, 000 25,000
OsdH A430t2 s2 E& 3 A 30,000,000 30,000
O=sZH gXNit2 =2 M4 S AL 20,000,000 20,000
Os2dH IX0tE s Z&3 A 15,000,000 15,000
OSdH DHAIOtE EHi=2 ZHISA
15,000, 000 15,000
O=dH E&0t2 =2 ZE3 A 25,000,000 25,000
O=2d 20ts =2 SZHI3A
20,000, 000 20,000
OsZdd 220t =2 EHI3A 15,000,000 15,000
O=&dH otx0tg =2 ZE3 AL 20,000,000 20,000
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A== S9(3H) - NEAY - BaS ﬁlf& HD=2
Ot 2502 s2=2 U SA
15,000,000 15,000
otgsH 20t s ZAZAF 20,000,000 20,000
OUeH DA2 s ZEHBA 10,000,000 10,000
OUgH =02 s2 =AY EXSA
5,000,000 5,000
O2<s oLEOE s+ SHSA
15,000,000 15,000
O2<%s 202 s8 20 SHSA
10,000,000 10,000
OBYE BENS 542 2} IM
12,000,000 12,000
OEfels &L =2 ¥ SHAEHHISA
10,000,000 10,000
OsZ A Z A 20,000, 000*6H 2~ 120,000
O=sdX =2 FHISAt 20,000, 000*6IH 2~ 120,000
OsZ LA Z A 20,000, 000*4JH 2~ 80,000
og4+2 X2 20,000, 000%4JH 2~ 80,000
03 A& 20 Y| 3,500 1,116 2,384
OAl& 20| 3,500,000 3,500
SIIBAIE S22 514,000 341,000 173,000
201 Bt A | 21,000 21,000 0
01 At 22l bl 8,000 8,000 0
OsdaXolse =E2IBA =2 4,000,000 4,000
O=0oll,stolltH = HHlEXts 1,000, 000%4JH A~ 4,000
02 3524l 13,000 13,000 0
o) KFUH 1,500%2004 *~6& 1,800
oI =44 1,200,000 1,200
OFgE &I 10,000,000 10,000
401 Al HI L 2 0HHI 493,000 320,000 173,000
01 A&t 490,000 320,000 170,000
O&d - &) A2 20,000
— Z2A A=) X 22l 10,000,000 10,000
—23& H3 X2l 5,000,000%204 2~ 10,000
Os2 A4 A2 160,000
—SZAE ALES 4.000,000%400H A 160,000
OFUE - Etl=2 A2l 160,000
—Fege Stz 2024
5,000,000%329H 2~ 160,000
OM=X - &M SA2el 150,000
—M=X, XM SXANE=  150,000,000*14] 150,000
03 A& 20HH| 3,000 0 3,000
OA& 20| 3,000,000 14! 3,000




A R =y
BH: S0 AS O
Chel: =Y IIBEAI & ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2& Xotes GESIA L AIZ22EY 100,000 100,000 0
403 UHXISHHSA=0l& 100,000 100,000 0
02 I 2S0CHet A=A 2 & Ar 100,000 100,000 0
O HEBE X5+ YBEA U NSRS
10,000,000% 1074 2~ 100,000
218 0L AL 100,000 100,000 0
401 AIEHI L 20 100,000 100,000 0
01 A& tl 100,000 100,000 0
OJtSHEl & DIt S A
25,000, 000%4 04 2 100,000
ANzZ2el M==Xl etd & 75,000 0 75,000
< 30,000
Al 45,000
401 AIEHI L 201 75,000 0 75,000
< 30,000
Al 45,000
01 A& HI 74,400 0 74,400
OEeMsS M==Xl o+& & 24,800,000* 14 24,800
= 9,920
Al 14,880
Of3M=RA otH™ZACt 24,800,000* 14! 24,800
< 9,920
Al 14,880
OJISFM=X o+H & T 24,800,000* 14 24,800
= 9,920
Al 14,880
03 AlE 2 THHI 600 0 600
OAE =t 600,000* 14 600
< 240
Al 360
ST A7 L8 FHAG (MEAY) 900,000 889,000 11,000
< 800,000
Al 100,000
401 Al BIZ 201 8] 900,000 889,000 11,000
< 800,000
Al 100,000
01 A& HI 895,000 883,400 11,600
OSEXF 218 ALY 895,000,000% 14 895,000
< 795,500
Al 99,500
03 AlZ 2 THHI 5,000 5,600 A 600
OAIE = HHI 5,000,000 14! 5,000
< 4,500
Al 500




EXN: A4
M =0 AS OF
S ERE=BITTPYPEPNES CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SHMAD|IBEAIAE HHIAFY 300,000 0 300,000
403 XX SHS K20 & 300,000 0 300,000
02 BI2SHUSXAN=2EAEAIE Y 300,000 0 300,000
OsSMAD|BFAIE MUl HEAFS Y]
300,000,000% 14! 300,000
SRR F2AE HELSAY(HESAIS) 400,000 0 400,000
& 320,000
Al 80,000
401 Al HI L E0HHI 400,000 0 400,000
= 320,000
Al 80,000
01 A& H| 398,000 0 398,000
O XN £2lAld IHELAY
398,000, 000% 14! 398,000
= 318,400
Al 79,600
03 Al 201 Y| 2,000 0 2,000
OAl&EE0idl 2,000,000 2,000
& 1,600
Al 400
2ERP FCAIE HESAY (HESAISY) 300,000 0 300,000
= 240,000
Al 60,000
401 AlEHI 2 2 0HY| 300,000 0 300,000
= 240,000
Al 60,000
01 Al&H| 298,000 0 298,000
OxH"HIXF =2lAE WNELAMIE
298,000,000 14! 298,000
= 238,400
Al 59,600
03 AlE 201 Y| 2,000 0 2,000
OAlE 20t 2,000,000* 1A 2,000
= 1,600
Al 400
ESEEXNT? £2AE HELAIY (HEAIY) 170,000 0 170,000
= 136,000
Al 34,000
401 Al HI L £ 0HHI 170,000 0 170,000
& 136,000
Al 34,000
01 Al& H| 170,000 0 170,000
OZEXNF? F2lAE HES=AY
169,000,000 14! 169,000
o= 135,200
Al 33,800




EXN: A4
M =0 AS OF
ol 5 9f )| BHAI A ALY (crel: @ el)
. _ - =
SA BB (SH) - NRAY - B Ol At o ﬁ}l&ﬁ HRE2
b |

OAIE 2 bl

1,000,000+ 14!

Al

1,000

800
200




